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1) {x eR|-3<x<3}=

-3,3] (-33) [](-33] [D[-33)
2) {xeR|-2<x <5}=

[-2,5] (-2,5) (-2,5] [0 [-2,5)
3) {xeR]-2<x <5}=

[-2,5] (-25) ] (-25] [l [-2.5)
4) {x eR|-3<x <3}:

-3,3] (-33) €] (-33] [@I[-3.3)

5) {x eR[x <-2}=

(—oo,—Z] (—oo,—Z) (—2,00) D] [—2,00)
6) {x eR|x >-2}=

(—oo,—2] (—oo,—2) (—2,00) D] [—2,00)
7) (-L7]\(3.9)=

37 Bl(L3) €13 B[79)
8) (-17]U(3,9)=

(3 B(19) G@7 B[19)
9 (-17]N(3,9)=

(3 B(19) G@7 B[19)
10) -7.2| =

—7.2 1.2 +7.2 [D] -9
11)  |0.14—7|=

7+0.14 0.14—rn 7—0.14 [p] —7x-0.14
12) |2—7r|=

2—71 T—2 —r7—-2 [p]7+2
13) |7r—2|=

Alr—2 B]|2-2 [c]-xr-2 [D]7x+2

1




14) The solution of the inequality —3X +5<—13 is

Al (<0,6) [ (6,) [][6,) @(é,o@

15) The solution of the inequality 11>5—-3x >—-13 is
[A] (-2,6)={x eR|-2<x <6} [-2,6]={x eR|-2<x <6}

C][-2,6)={x eR|-2<x <6} [D] (-2,6]={x eR|-2<x <6}

16) If 2X +3=1-6(x —1), then X =
1 1
> 2 [c]-2 @_5

17) The solution of the inequality X% —5X +6>0 is
(—90,2) U (3,) (—90,2]U[3,0) (2,3) [b] [2,3]
18) The solution of the inequality X >—5X +6>0 is
(—90,2) U (3,) (—90,2]U[3,0) (2,3) [b] [2,3]
19) The solution of the inequality X > —5x +6<0 is
(—0,2) U(3,0) (—0,2]U[3,%) [c](2,3) [D][2,3]
20) The solution of the inequality X% —BX <—6 is
(—00,2) U(3,0) (—0,2]U[3,0) [c](2,3) [D] [2,3]
21) The solution of the inequality X X >2 is

(—OO,—]_) U (2100) (_OO’_]-] U[Z,OO) (_001_2] U[11 OO) IEI [_11 2]

22) The solution of the inequality X X <2 is

(-12) [B] [-2.1] [c](=0,-2]U[L») [b] [-12]

23) The solution of the inequality X °—X >2 is

(—OO,—]_) U (2100) (_OO’_]-] U[Z,OO) (_001_2] U[11 OO) IEI [_11 2]

24) If [3x —=7|=2 , then x =

5 5
gorB B] -3 —g @—30!‘—5
25) If [x —4|=3,then x =
[A] -lor —7 B] -7 lc]-1 D] 1or7
26) The solution of the inequality |x —3| <4 is

Al(=17) BI[-17] [c](—o—1JU[7,0) [D] (—oo,—D)U(7,0)

27) The solution of the inequality X —3[<4 is

(_11 7) [_1’ 7] (—OO,—]_] U[?,OO) IEI (_001_1) U (7100)




28) The solution of the inequality |[x —3| >4 is

Al(-17) BI[-17] [c](—eo—1JU[7,0) [D] (—e0,—1)U(7,0)

29) The solution of the inequality X —3|> 4 is

Al(=17) BI[-1,7] [c](—eo—1JU[7,0) [D] (—oo,—1)U(7,0)

30) The distance between the real numbers —5, 6 is
-11 11 -1 [p]1
15 23
31) The distance between the real numbers 5 12 IS

1 1 1 1
Al -—— [Bl+— [ = D] —
A 24 24 c 12 24

32) The distance between the points (—2,-5) and (3,1) is

[Al\7 [B] /61 [c]V11 [D] 4

33) The distance between the pairs (—2,5) and (1,1) is
2 [B] -5 c]v5 [B]5

34) If X°—3X =4, then X =
[A]1lor4 [B] 4orl |[c]-4or -1 |[D]-lor4

35) If 3x*—6=0, then X =
Al +V2  [B] V2 [€]V2 [D]+2

36) If X (X —5)=14,then X =
[A] =7Tor2 [B] 90or14 [c]20or7 [D]-2o0r7

37) The solution of 3(X —2)=2(X +1) +7 is
-15 14 [c]15 [Dp]10

38) The solution of 2X +3 :XE+9 is

5
Al -4 [B] 8 5 D] 4

39) If Xx°+25=10X , then X =
[A] 5 [B] 5 [c]-5 [p]10

40) If X*—36=0,then X =
Al +6 [B] -6 [€]6 [D]+/6




41) If 9(2x +8) =20—(X +5), then X =
Al V3 [B] 2 [E]1-3 [DI3

42) If 2(X —5)+8=5X +3,then X =
7 5 5 1
Al —— —— c]-= =
3 3 = @3

43) The solution of the equation 2X > —3X =5 is
g orl —g orl g or -1 [Dp]-1or2

44) The solution of X°>—2x2*—3x =0 is
[A] -3,-1or0 [B] 1,00r3 [c]-3,00r1 [D]-1,00r3

2X +1

45) The solution of 4x = —2 is

7 1
a] -2 [B] o5 [kl-5 [BJ2

46) The solution of the equation X *+x°—2x*=0 is
-2 ,0o0rl -1,0o0r2 [c]-1,0or2 [p]-2,-10r0

47) The solution of 6X°+X =2 is
2 1 3 2 1
Al —= or = —=or2 [c]-=or-=
3% 5 5 2 5 D]

wiN
@)
-
N |-

48) The solution of 2X 2 +3=—-7X is
—Sor% -3o0r2 |[c]-3or —% @30[‘%

49)  [0,0)\{1,2}=
A [12] B (20) E[01)U2») B [01)UL2)U(2)

50) The integer in Z is

2
Al V25  [B] V-2 []5.3 @5

51) The rational in Q is

% BlV=2 E¥2 B

52) The irrational in I is

g Bl V=2 B0 B2




